S EEMEERETE—E
BRES 2EK% BRES L2EK% BRES LEK%
905 BTl —=9 1069 - 1131 M RE
933 2E B 1070 INEE RSB 1133 JIF
944 Hp = 1073 g 7 1135 XE =
969 it g 1076 IR R 1147 INEE  EE
994 2 55— 1078 B AE 1148 T
998 ET LY 1081 BE - 1151 HEE B
1002 kA &2 1083 MNER ESR 1154 BB ik
1005 EE MEXx 1087 BB A 1156 EEH FIE
P 1009 FE L 1096 AR B 1158 HE
] 1010 N HESA 1099 Hl B 1163 EO I
f 1011 ZE 2o 1103 =@ & 1164 KNI =%&
s 1017 A X 1105 I 1165 il AE
1026 ERK BT 1107 HEE FEZ 1169 $HA sE
1027 fIEp 1108 R &= 1171 i &t
1040 =E RE 1114 Mot ek 1173 2E BT
1051 EnviE IEE 1115 X2 E& 1174 BT HEA
1056 g FE 1116 INER EE 1179 =10
1057 Ik B 1119 He B 1180 MR E
1059 BiE &= 1124 He #2K 1182 A EA
1064 E BN 1125 hE S 1185 wI =5
1067 1IZ1E3 & 1126 xAE 8Bz 1186 FAIER  EfE
BRES 2HEK% BRES 2ERK% BRES 2EK%
849 =& WA 1024 INE S 1128 LH EfE
914 I 1029 FiE & 1137 INEE  BRE
" 936 BiE =& 1047 W Rt 1152 IS
g 953 Fith B 1068 Bl FIA 1153 P KE
% 968 @ & 1074 MUE RE 1157 FH BT
= 975 EE = 1092 5 $Rth 1160 BR _fE
997 B Bk 1102 HEH HE—E 1175 INEL #hAEH
1004 EE EA 1104 Ee s 1177 R =N
1008 N B2 1109 PSR #ER 1181 it BN
1016 INER & 1113 ERA BHZ
BRES 2BEK% BRES 2BK% BRES 2EK%
860 =5 R 1086 AN i 1167 FAIER  flith
x 888 ik & 1094 ik A 1168 wE EA
iR 902 ik S& 1100 FE EM 1170 EE B
f 954 i EE 1134 ) B 1172 FIER {8
m 960 MHE % 1149 A 1184 EE R
1084 =H BB 1155 EF @i
1085 AE K# 1162 w5 KIS
BRES LEEK% BRES 2BK% BRES 2EK%
— 653 INEFE  BEER 1020 = 1120 FE =
(5 942 m)Il E 1035 NG $REA 1127 AR Kz
f 950 INEF E— 1055 =R 1132 FE £F
H 1003 g B 1062 =@ 8 1183 U BAAER
1019 ENTE D 1098 RS S
BRES LEK% BRES 2BEK% BRES LEK%
n 850 wE RE 959 J\K {8 1063 SITEES
a 885 HA IR 999 & ¥ 1123 B BT
; 919 5E TP 1021 T 1136 L
2 928 fE =B 1041 EO ¥R 1150 BF  #E
934 BA B— 1043 BivriE Hif 1176 BE =@
945 ot 1044 BK ER 1178 SH AR
BRES 2HER BRES SEE% BRES SEK%
B 890 B2 A 981 Ait HB 1110 BIE A
it 891 BE =% 1030 =R 1117 R Bith
f 924 Hf Ex 1034 BIiE EF 1130 TiX EX
w 963 T KB 1075 EIE 1141 He R
980 HME =2 1088 A¥ F1E 1159 HZ RER




